The Competition of start-up
Receco
1. The highest number  of successful transactions
we mean the number of  performances commercial contracts, as regards previous contact with buyers.

Successful contracts x 100        100x100
--------------------------------- = …...............=  62,5%
the number of  contacts                 160
2. The most efficient advertising

To make our company well known we –of course-have a marketing department . It has created our very own Facebook page as well a Twitter and Instagram account .This way we will reach as many potential customers as possible. Leaflets and banners are being used to promote our products as well as advertisements will be played on local and national radio stations . Also personal relations are used to verbally promote our products.

On the following link you can listen to our radio advertisement
http://liis.ro/~ecotraining/wp-content/uploads/2018/04/Receco-advertisement-radio.mp3
3. The highest profit

a. Highest profit
	
	    Cost of goods sold                    12.500

	Rotation Index
	=---------------------------(R.I.=------------= 16,67

	
	    Average Inventory                     1500


b. Profit 
is the result of a gain

P=R-C =30.000-12.500=17.500
P= Profit

R= Revenues

C= Costs of goods sold

4. The highest turnover
of a company is equal to sum of all  sales revenues ,  services from a company ‘s sales in the tax year against invoices issued.

REVENUES =30.000
